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Q0 0.1 375 380 354 360 336 340




2-3-2 | M2M T= J|OIRE

3|4 FHIMEIXIZ (m)
A HIA Gk =
'E(g/;)E %;éé;:ﬂn E|CHHBAL 6% E|CHHBAL 7% E|CHHBAL 8%
HARE | TR | AR | ORI | AR | W%
80 0.12 280 280 265 265 252 250
70 013 203 200 193 190 184 180
60 0.14 142 140 135 135 129 130
50 0.16 89 90 86 85 82 80
40 0.16 57 60 55 55 52 50
30 0.16 32 30 3] 30 30 30
20 0.16 14 15 14 15 13 15

O — =
(1) HATHZIM Z0|9] H|At
O QXX HE T ZES LI|X| 4L ZO|
L:v-tzg—vt [A1 31.2]

@ 2O Tl 5F DjEKe! FL

o £ [20| 19 XS FQOIS FHIMO| LoDt MM I HOI2S T2t 3
OpH| 2O U= KUS ¢

Lt o] 3L 2o

L} (2R T20] TS 21 B2 JU=E (I

n

rr

1
b

(B 3.1.3] T=2ulzilt 22 FHIMA0IQ] 27|

ML (wh) 212 21 FHZI0|(m) QA1) 314 HHTHZO|(m)
120 70 1.02 700/0
110 65 0.94 650/0
100 55 0.80 550/6
90 50 0.73 500/¢
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120 6,900 0.0364 7,100 0.0360 7,200 0.0357
110 5,800 0.0364 5,900 0.0361 6,000 0.0359
100 4,800 0.0364 4,900 0.0361 5,000 0.0357
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50 1,200 0.0364 1,200 0.0364 1,200 0.0364
40 800 0.0357 800 0.0357 800 0.0357
30 400 0.0377 450 0.0357 500 0.0342
20 200 0.0357 200 0.0357 200 0.0342
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20 1/ 85
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O|A+ ’ : ’ ~ ~
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4,800 2,650 1,690
O|AF ) ) ) - -
100 | 4,80000% 3 650 3 690 070 1,070~690 | 690~460
3,900 2.150
o Al ' ’ _ _ —_
90 3,90001% 5150 370 1,370~880 | 880~560 | 560~380
3,100 1,680
O| A ' ' ~ ~ ~
80 3,10001% 1 680 1,060 1,060~670 | 670~420 | 420~280
X 2,300
70 2,30001% 80 1,280~800 | 800~490 | 490~310 | 310~200
60 1,70001% | 1,700~940 | 940~580 | 580~350 | 350~220 | 220~140
50 1,20001% | 1,200~650 | 650~400 | 400~230 | 230~140 140~90
40 800014 | 800~420 | 420~260 | 260~150 150~90 90~60
30 40001% | 400~240 | 240~150 150~85 85~50 50~30
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o | 4110 | 2790 | 2040 | 1540 | 1760 | 860 | 630
o | 6000 | 6000~ | 3450~ | 2340~ | 1,710~ | 1290~ | 980~ | 720~
o | 3450 | 2340 | 1710 | 1290 | 980 | 720 | 530
oo | 5000 | 5,000~ | 2840~ | 1920~ | 1,400~ | 1040~ | 780~ | 570~
o | 2840 | 1920 | 1400 | 1040 | 780 | 570 | 420
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